Alpha Solar FFH 2P 2C 3000

Data Sheet/Installation Manual

1st Industrial Area
OT 1819, Volos TK38500
Greece

T/F: +30 24210 85233
@: info@emmanouilsa.com




FFH 2P 2C 3000 - Installation Safety



FFH 2P 2C 3000 - Parts List

CST 80x40x15x3
» Hot Galvanized (min. 55um)
= S275
Length: Varies by application

CST 80x40x15x3
» Hot Galvanized (min. 55um)
= S275
Length: Varies by application

CST 80x40x3
Hot Galvanized (min. 55um)
= S275
Length: Varies by application




FFH 2P 2C 3000 - Parts List

Part Technical Description
CST Lx40x3
5 = Hot Galvanized (min. 55um)
= S275

» Length: Varies by application

Mounting Beam

E = ALU 60x40x2mm
= Aluminium 6063T66
= Length: Varies by application

Module Support Beam Connectors

= ALU 36x33x1.5mm
= Aluminium 6063T66
» Length: ~250mm

Module Clamps

Aluminum 6063T66

Polycrystalline Clamps
Middle Clamp - 50mm
End Clamp - 50mm

Thin Film Clamps
Various Types

Bolt(s) : DIN 912 M8 (Various Lengths
depending on module thickness) - DIN 557 M8
A2

Image

=l




FFH 2P 2C 3000 - Parts List

DIN933 M10x30 HEX BOLT ~30 Nm™
See Tightening

Torque Chart

DIN934 M10 HEX NUT N/A

DIN9021 M10.5 WASHER

N/A
9097 M8x25 Hammer Head ~25 Nm**
Bolt See Tightening

Torque Chart

DIN934 M8 HEX NUT N/A

DIN125 M8.5 WASHER N/A



FFH 2P 2C 3000 - Planning and Design

Planning and Design

The Free Field (FF) 2P 2C mounting system is designed and engineered individually for each
project site and location. A geotechnical and static study will need to be performed for each
site in order to able to plan and design the mounting system.

For the mounting system installation there are certain tolerances that you will need to adhere
to in order to make sure that the installation is completed correctly, and the project is built to
standards.

Each site will need a general layout plan with ramming point positions and general layout plan
of the mounting system. It is important to follow the design so that the system is installed
correctly.

Following you will find examples of a general table layout and mounting system section layout.

Alpha Solar FFH 2P 2C 3000 - Mounting System Layout Example



FFH 2P 2C 3000 - Planning and Design - Layout Example

[Revisionne o

[iwsveonre
soas

DRAWING TITLE | GA DRAWING.

PROJECT No.
DRAWING No.

FRONT VIEW
1:25

e
L SRR

) S
i
i

T O ity

Jooms ]
rrrsssas
=
=
Tecmass]

74 AT
g\ s \ i \

gL

SFessssssss
S ssssssss

TOP VIEW
1:25
I—
I—

g
=
=
==
=
= ////

=
==
g~
=
1713

\
sepsskasaas
v
i
\
=

==
n
/

=

Epaen]
esbirsio]

TR \ \\ \\ \ \\

un

R \\\\\\ A\
TN
RN
AR
RN
\\\\\\\\\\\\\\\\\\\\\
\ \

ARSI EERTELYRY FrITTTY)

L oty STELERTEN PETTTTT
i

[ TN SRR P e

R RN R YRR R RS 5

o] | 0
Sl

[

[Ty
/
/
/
/
g5
=
/
/
/
/
/
/
=
/

Alpha Solar FFH 2P 2C 3000 - Typical Model Example
Profiles my differ



FFH 2P 2C 3000 - Mounting System Assembly

1. 9097 M8x25 Hammer Head Bolt

DIN934 M8 HEX NUT
DIN125 M8.5 WASHER

DIN934 M10 HEX NUT

DIN9021 M10.5 WASHER x2

DIN933 M10x30 HEX BOLT

|| Ramming Post Tolerances |

] Heigth  +/- 20mm ]
| North/ South +/-2° [
| East/West +/-2° (5°Max) |
0 /1 |




FFH 2P 2C 3000 - Purlin Installation



FFH 2P 2C 3000 - System Installation

[comrmn [irwnoven | REV. DATE

[0 [REVAARK_REVISION DESCRPTION

PROJECT NAME. /ALPHA SOLAR MOUNTING SYSTEM




FFH 2P 2C 3000 - Slope Adaptation Accessory

*K]21N238S pa12auu0ld ate walsAs Burrunow ayy Jo suied jusuiniad e 1eyl
ains Bunjew ui sdjay SIyL "1S9\ 01 1S3 WoU) uoijeuljoul saalbap G 01 i 1aA0 Ynim sadojs
af1e] aney eyl suonejjeisul walsAs Bununow 1o pasn si A1ossadoe uoneyrdepe adojs ayL



FFH 2P 2C 3000 - Planning and Design



FFH 2P 2C 3000 - Preventative Maintenance

FFH 2P Preventative Maintenance

It is important for the mounting system to be checked every 12 months and to use a torque
wrench to check the mounting cap bolts and other screws for proper tightened torque.

**Stainless Steel Fasteners - Pre-load and Tightening Torques

Coeff Preload (Kn) Property Tightening Torque (Nm) Min Breaking Torque
Thread -OC class Property class
Friction
A1-50 A2-70 A4-80 A1-50 A2-70 A4-80 A1-50 Al1-70 A4-80
0.1 9.32 20 26.6 13.7 30 39.4
M10.0 0.2 7.58 16.2 16.2 20.3 44 58 46 65 74
0.3 6.14 13.1 13.1 24 51 69
0.1 5.86 12.6 12.6 6.8 14.5 19.3
M8.0 0.2 4.75 10.2 10.2 10.1 21.4 28.7 23 32 37
0.3 3.85 8.85 8.85 11.9 2585 33.9




Alpha Solar FFH 2P 2C 3000

1st Industrial Area
OT 1819, Volos TK38500
Greece

T/F: +30 24210 85233
@: info@emmanouilsa.com




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14

